ﬂh Lattice 3 by 2

Name:

Use lattice multiplication to solve each problem.

1) 2)

142 x 93 = 129 x 47 =

7 7 s 7 s z
s s s / s s
s 7 7 /s 7 7
7 s s /s Ve Ve
7 Ve Ve 4 / 7
7/ 7 7 Vi 7/ / / Vi
/ / 7/ Vi 4 / / 7
7/ 7 7 V2 4 7/ 7/ Vi
s s , / 7 Vs
7 s v 7 7 s,
7 7 , 7 7 s
s s , Ve s ,
s s s /s 7 ,

s 7 7 7 7 7
s s s ’ 7 7
s s s 4 7 7
s 7 s ’ ’ s
7 /s Ve ’ ’ s
7/ Ve 7 Vi 7/ /7 / Vi
4 7 7 v 4 / / 7
/7 7 7 V2 4 / 7/ v
s Ve s, 7 s ,
7 s ’ 7 7 s,
s 7 , 7 7 ,
7 s , 7 7 ,
s s s 7 s y

8) 469 x 63 =

s 7 7 7 7 7
7 s s s 7 7
7 s s s s s
s 7 s s ’ Ve
4 s Vs z s s
7/ Ve Ve Vi 7/ 7/ / Vi
4 /7 /7 7 7/ 7 7 Vi
/7 7 7 V2 4 / 7/ 7
s Vs s, s s ,
7 7 ’ 7 7 ,
s 7 , Ve 7 /
7 s Vs 7 Ve ,
s s y 7 s y

1D 353 x42=

s s s 7 7 7
7 7 s s 7 7
7 s s s s s
7 7 7 s 7 7
4 Ve Ve 4 s s
7/ Ve Vs Vi 7/ / / Vi
7/ 7 7/ Vi 4 7 7 V2
7 7 7 V2 4 / 7/ 7
s Ve s, s s ,
7 7z , 7 ’ ,
s 7 , s / ,
7 7 v 7 7 ,
s Vs y 7 s ,

3) 464 x 52 =

7 s s
s s s
s s 7
s s s
s s 7
/ 7 7/ Vi
4 / 7/ 7
/7 7 7/ Vi
7 7/ 7
7 s s’
7 7/ ,
s s ,
s 7 V:

6) 101 x 82 =

s 7 s
Ve s Vs
Ve s s
s s s
7 /s s
7/ 7 7/ Vi
4 Ve 7 7
/ 7 7 Vi
Ve s ,
7 s s,
s 7 ,
s s v
Ve s y

s 7 7
s s s
Ve s s
7 s s
4 s s
7/ Vs 7/ Vi
7/ /7 7/ /
/7 7 7 V2
s s s,
7 7 s’
s 7 ,
s 7 ,
Ve s V)

12) 852 x 88 =

7 7 7
s 7 7
s 7 s
7 s 7
4 s s
/ Ve Ve Vi
/ / 7/ V2
/7 7 7 ,
s 7 ,
s 7 s,
s 7 ,
7 7 ,
7 s y

10.

11.

12.

Answers
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Lattice3by 2 Name: Answer Key
Use lattice multiplication to solve each problem. Answers
1) 142 x 93 = 2) 129 x 47 = 3) 464 x 52 =
1 4 2 1 2 9 4 6 4 L 13,206
0,3,’1,’9 0,’0,’3,’4 2,’3,’2,’5
1.7 9|, 6|, 8 ol.”" 4. 8|, 6 21,70l 0|, 0|2 6,063
/// O /// 1 /// 0/// 3 /// O /// 1 /// 6/// 7 /// O /// 1 /// 0/// 2
3.7 3.7 2].76 6.7 7|.74(,7°3 4.7 8.7 2(,7°8 3 24,128
72,70 .6 0,76 1,72 .78
4 27,255
5, 12,320
4 305 x 69 = %) 350 x35= 6) 101x82=
3 9 5 3 5 2 1 0 1 6 8,282
1,’5,’3,’6 O,’l,’O,’3 0,’0,’0,’8
21,7 8|,7 4], 0 11,7 91,7 5|,7 6 o(.” 8|,7 0|,” 8 7 49,000
/// 2 /// 8 /// 4/// 9 /// 1 /// 2 /// 1/// 5 /// O /// 0 /// 0/// 2
7007715 2|.75(.75[.70 g|l.7 2.7 0[], 2 s 20547
/// 2 /// 5/// 5 /// 3 /// 2/// O /// 2 /// 8/// 2
9 37,884
0. 16,507
7 500 x 98 = 8) 469 x 63 = 9) 024 x 41 =
5 0 0 4 6 9 9 2 4 1. 14,826
4,’0,’0,’9 2,’3,’5,’6 3,’0,’1,’4
4/ .2 5,7 0,70 2/ 41,7 6,7 4 3/ .7 6|,7 8,76 1 74,976
// 4 /// 0 /// O/// 8 // 1 /// 1 /// 2/// 3 /’ O /// 0 /// 0/// l
91,7 0|.70|,70 91.7 .. 81,7 7 71,79, 2,7 4
/// O /// O/// /// 5 /// 4/// 7 /// 8 /// 8/// 4
10) 971 x 17 = 11) 353 x42 = 12) 852 x 88 =
9 7 1 3 5 3 8 5 2
0,’0,’0,’1 1,’2,’1,’4 6,’4,’1,’8
1 // 9 // 7 // 1 1 // 2 // O // 2 7 // 4 // 0 // 6
/// 6 /// 4 /// O/// 7 /// O /// 1 /// 0/// 2 /// 6 /// 4 /// 1/// 8
6//3 //9//7 4//6 //0//6 4//4 //O//6
75,70 .7 8,72 .,76 79,77 .76
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